























If n = 475AB is a positive integer whose

tens and wunits digits are A and B
H-:II'SH E) respectively. If n is divisible by 5,8 and 9,
~ <29 then what is (10A+B)?

" "n = 475AB HNIE QUG B, oD T@TE SR
Lﬂ"@AO 3Pl P 3P P99 A IR B g/ IR n, 5, 8 3R
i 9 ¥ faursy 8, T (10A+B) HT A ST PN |

= e 20 (b) 35

0A+R (c) 15 (d) 60 |
040 Fowos °“\/°'9“”U]
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The mean of three numbers —, b and c

3
b ¢

i :%“',C:—F'Xis the same as the numbers 3’3 and x.

3

A 1)
aybane
3 3 5t

A+, =3

The value of 3x is (where a,b,c are
positive numbers):

IR x d 99 2| SXWW%Gﬁa,b,c
TS GYAY §
(a) a (b) a+3b+3c

Jef a+2b+2c (d) b+c



When a certain number is multiplied
ny i1, the product is & sin-gigit

(. X ) X I | = 66 (¢ (( number containing only 6s. find the
B number that is multiplied by 11.

46&6522 o9 U fafRea | @ 11 | Ton, f&ar
qtz_ﬂ*T__ Gﬂar%,ﬁTgPFmﬁﬂiiwﬂﬁEﬁgaﬁﬁgﬁaén
11 9 7O & §F dlell &1 $d Aiow |

(a) 79365  \(bf 60606
(c) 78365 (d) 61661
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If the 9-digit number 5p42978n6 is

P/ NG divisible by 72, What is the value of
(_i‘n'__. . (2p-1), where n is the_second largest
l —2 of all the possible values of n? Given
9
@ that p and n are natural numbers.
54 VI Sew “31% 9 3HI T TEAT 5p42978n6, 72#
Q \soe\fasTsT &, a (2p-1) FT A T &, Sl n,
X3—1=\9 n ¥ @t Fafaa AW A ¥ qET FER 30
® e? iGar 8 & p 3R n yFa &I F
(a) 17 (b) 11

(c) 21 \(}v/15



Find the sum of squares of the greatest
value and the smallest value of K in the
number so that the number 45082K is

dw151ble by 3.

ﬁKa%arﬁJWqﬁaﬂ?wqﬁa%mﬁ
|+K il a‘murcr 90 P & 45082K L3
4 faaTog & |
Kevay, 2 Jd) 68 (b) 64
km'n—aQ (c) 100 (d) 50



Find the sum of all the possible values of
(a+b), so that the number 4a067b is
divisible by 11.

(a+b) B T FHIRAT BT AF BT INTH ST DY

TS ST 4a067b,11 ¥ 959 1|
(a) S (b) 16
et 21 (d) 11



If the 7-digit number x8942y4 is divisible
by 56, what is the value of (x’+y)for the

Ygaqo‘\jq =9, largest value of y, where x and y are natural
numbers?
7 6 gfe x8942y4 TH VAT 7 ! Bl AT & ol 56
ﬁﬁ‘ﬂ@%,?ﬁy$mﬂéﬂ'ﬁ$ﬁlﬁ(xz+y)
007(83‘1:26\{ BT A9 T 87 Tef x AR y Wdd G&N 7 |

S—— "t?—' (a) 33 (b) 44
1_» _:T_‘[_(gfss (d) 70



If the 7-digit number x8942y4 is divisible
by 56, what is the value of (x‘}x) for the

largest value of y, where x and y 4re natural

numbers?

-=A
b If¢ x8942y4 TH Ul 7 Pl HI G & ol 56
C AT e Ay ® F90 78 99 B Y (x2+y)
D WWW%?GﬁxGﬂ?yﬂTﬂgﬁﬂ@Tﬁ%I
e A (a) 33 2% (b) 44 3¢
B_g \}}’55 qq WO éb‘



What is the sum of the numbers between
400 and 500 such that when they are

i by 6,12 and 16, it leaves not
@)

remainder?
400 3R 500 & 9 HI TR T AT T ©
6 94 I 6,12 3R 16 ¥ AWRT o7 W

Y$x9 PrE IVPA e} gIT &7
(a) 1024 (b) 960

U8X 10

B8R0 bl9&28 (d) 480

ML) g 100 'S

Ly R2.



If 847 x 385x675x 3025 = 3% x 5°x 7°x 11¢
then the value of ab - cd is:

e 847x385x675x3025 = 3°x5°x7°x11°AT  ab - ed
q9 T BRI

(a) 4 B 5

(c) 1 (d) 7

TSR X s"*x%xgi,(\ .
3 )(SSX‘,L X\ |



What is the sum of first 20 terms of the
following series?

,XQ+Q&3+?’#“”--?OXQ[ 1x2+2x3+3x4+4x3D +....
l &Y 1§ A@AT F gl 20 YT F AT FAT P

1x2+2x3+3x4+4x5+....
Nn+)

F/ (a) 2940 -

] 3080
(c) 3240
o 7 (d) 3160




\1 (6 é‘éﬂ 2?2 How many numbers are there from 400

to 700 in which the digit 6 occurs
5 66 266;— 2%2 exactly twice?
eeS 66y GLyg 400 ¥ 700 dF ¥ Frae wEaw §, e

@ 66§ 6S6 mezﬁﬁa’rmm%? (\’\
b6 Gtt—
ar ST ged X
J4
iy 28 66 “._E -.G -
*EG:L_ 616 (9)21 Z“ 9. 4

O @ wE) E@



5‘ Qﬁ,lggo)'},?}} ggc hat is the sum of all the common

= erms between the given series S1 and

\4 :HTSIH%ITSZ

A(M 6] 34,y Q%
s1 f 9 6
A=23 sz 7"3 %g

23 (a) 6860 @r—ﬂ (_ﬁ‘—*

)9l .. (b) 7140
\:{3 (c) 6750

Q—LC%H\xz'aj‘””u (£34) = W%W



Which of the following given value is

@ [?5 603 greater than 312?
fz{ﬂf‘ﬂ}‘{,(gS g a1 FiF @1 A 128 30w §?
® M) $/60
AR ¢ 3331y (b) 95214
QMXIQ_I (c) $121
QY (d) Y1500

®



The 6-digit number 439xyS5 is divisible by
125. How many such 6-digit numbers are

(1 ?)C] ")(H ‘5/ there?
16-3P1T &I 439xy5, 125 ¥ fawrey 2| W

6-31T A& &7 o
1357 w ”‘W‘ o2 | o

X =28 0 5 (d) 3 4
X3 35 _ \/



A seven-digit number 5702718 is divisible
by 147. If we rearrange the digits of the
g-:]_-:l_ sq‘ o number in descending order and subtract 4

7 more than three times of 17 from the new

53 number which is formed, then the resultant
number will be divisible by :

S Ud 9Id 3P & G 5702718,147 9 faarsy

_ _ /N B IR oW B s B o o A

JIaReId HYd & 3R 99 drell 93 9 ¥ 17

P dF T ¥ 4 WS wer & o gRumd g

f=1 | fawfora gif:
(a) 17 (b) 11

(c) 7 J9rs




A number square of 167. When digits of the
number are rearranged in descending order,
then the new number which is formed will
be divisible by:

Udh WC 167 &1 I 3| W4 G&T & b Bl
FaRIE P G foam S % GIECEE



A number is cube of 53. When 7 times of 57
is subtracted from the number, then the
resultant number which is formed will be
divisible by:

Uh G 53 & §9 g | O 99 G& ¥ ¥ 57
@1 7 AT UCHAT WA 8, o S gRoml g
g1 8, a1 98 feus grT fowifora grfi?

(a) 12 (b) 19
(c) 13 Jﬂ)/l 1
3

@ KO\L)) = 0\‘3 a8k 3g)% \)’5



Which one of the following fractions will
have minimum change in its value if 3 is
added to both the numerator and
denominator of all the fractions?

frafaf@a & @ g s & a9 A ~eaa
oRads g afe @it et & arr 3R & =
A 3 S A Jw?

2 3

(a) 3 (b) 1 @
4

(c) : \)ﬂ/g

s
“aw, (g




Three consecutive whole numbers are

such that if they be divided by 5, 3, and 4,

l‘]‘ 3'—'!-"4' 14:-2 — l{o respectively; the sum of their quotients is
S ?,) Y 40. Find the sum of numbers?

WU—SO)O dier FAIa qof FEar 59 a¥E & § Rig 3a@
£0 FAA: 5, 3, 3N 4 & Hwr AT FAam § 39S

(’1'47L=Q3‘5b HRTHS $T T 40 § af §EIIAt &1 A1 &4

o
(a) 103 (b) 104

$o+&'\+SL (c) 100 (@) \g3

=@ Bekhi ey




A student was asked to divide a number
by 6 and add 12 to quotient. He however
first added 12 to number and then divided
it by 6, getting 112 as the answer. The
correct answer should have been?

s faundf #1 gEar Y 6 ¥ Hr 3 A HrHd
H 12 ASA FT FgT AT gTeATh, 3TA Tgo 12
Fr &g A A1 3R Y 3@ 6 & Ranfaa R,
3 & FT A 112 9Iod g3 HEY 3w {eln Afe

q1?

122 (b) 118
(c) 114 (d) 124



6l28Y

I ¥

| R
36 _{_g

Q)(\“\’(: !

if x is the remainder when 361284 jg
dividable by 5. and y is the remainder
when 4% is divided by 6 then what is the

value of (2x-y)?

| e IR x 3612843} 5 ¥ i @ W 3 aren

AYHA § dUT 4% &) 6 ¥ (AT F:a W A=

maﬁw%a’r(ny)mﬂmw%?R
(a) -4 ‘1—“\

<y b4 N4
B%ff, ) . ‘{3—5 oY U\
@ v S RY



If the six-digit number 768xyz is exactly
divisible by 7,11 and 13 then {(y+z)+ x|

Is equal to?

afe 6 3T HT FEAT 768xyz, 7, 11, 13 ¥ qUia:
Rusg g at {(y+z)+x}?ﬂﬁ? g?
(a) 11/4

2 3,1\, — (ool
(c) 13/7
(d) 7/13 q——————\OLO\hC‘

\00\



Find the product of all values of x if

517x232is divisible by 12?
7(%"(%'51 -2 e 517x232F€ur 12 ¥ fawfaa g ar x &
4o g A T B
(a) 24

) 28
(c) 27
(d) None of these

[ XYxE @

::-f\)g



gﬁ f multiples of 9 between 18 and
e place value of 9 in 8709 is equals

183fh63a;ﬁir9$=ma’raﬁrmﬂ—

\._-l"

3709#9mm=h1ramw%‘>

Jar'18 (b) 9

(c) 27 (d) 16



The least common multiple of 10, 25 and

10,2530 30 +the sum of multiples of 5 and 20 is
L’ﬁ\_’ equals to? blw §
<50 10, 25, 30 T ogaH FAGAS +5 ¥ 20 &
fo 5?5311131 F AW T P
(a) 8 (b) 4
__|_§”_U S el 6 (d) 2



If the unit digit 433 x 456 x 43
N is (N+2) then what is the value of N?

I 433 x 456 x 43 FT SHE & IF (N+2) &

(/\093’(”5&(‘!3N= _™2) N 71 A T AR
A (a) 1 (b) 8

AN=N+2_ (c) 3 WLLC
IN=2 /@



If two positives +ve integer p ail q can be
expressed as p=ab? and q=a3b§\:ne1ng prime

numbers then LCM (p, q) is?
afe &) aTeHS qUite p AR q 39 e Emn

JTdT § p=ab? 3K q=a3h: a, b IHTT &I §

ar (p, q) FT TYAH FATIIASH gHNT?
(a) ab (b) a2-b?

Jc1 ash? @ (d) ab3



The difference between the LCM and HCF
of the natural numbers a and b is 57. What
is minimum value of a+b?

nm AgaH FT HA
24" 67 ¢ e wgR® @& a AR b A atb F
}m?m wa’mr? /—’H '3’"\1,‘1

I XS7(a) 22 e 27 31
¥gg(c)31 (d) 58 ‘3“*?




LCM of first 100 natural numbers is N.
LV what is the LCM of first 105 natural

f\/ numbers?
qgell 100 WHfds FEAI FT TEGA FATTdAS
oy N & ar 105 wHfas Feanst 1 agad qATIda®
oygN  FT gram?

(o403N (a) 5!xN 10403N
c] 105N/103 (d) 4N



What is the HCF of
4x27x3125,8x9x25x7,16x81x5%x11x497

4x27x3125,8x9x25x7,16x81x5%x11x497?

/— F1 HEaH TAIGTF FIT ENIT?

QO‘X?;"’,(SS (3180 (b) 360
(c) 540 (d) 1260
3 iy

:21‘)( '31 .)\S \ gb



6 (a)(odh)
21 (a-k)®
IS (ath) ™

Find the HCF of

6(a’ -b?),21(a’ - 3a%+ 3ab” - b?)
and 15(a’ + 2ab + b?)

6(a* -b*),21(a’ - 3a” + 3ab’ - b°)
and 15(a2 + 2ab + bz)

T AgaH FAGdS ATd HFU?
(a) 2(a+b)(a-b) (b) 3(a+b)(a-Db)
(c) (a+b)(a—b) Mone of these

©



If 2x3+3x2+ax+b is divisible by (x-2) leaves
XY+, =
D\XQ'E Rath=2 the remainders 2 and divided by (x+2)

leaves the remainder -2, then the values of
ot~ — 6 .
. 4 '—(D a, b are respectively?

i g 2x3+3x2+ax+h )(x-2) ¥ 15T ¢ 3R A%
_@) 2 § 3R x+2 ¥ A= T Srar § a 9B -

2 % a,b¥F AT FAA FT ¢?
(a) 7, 12 (b) -7, 12

Q’(H)-\-(\'}_) c) 7, -12 -7, <12

vazd’



If x leaves the remainder 1 when divided

by y then what are the possible remainders
when x+1 is divided by y?

I x F y ¥ Hwr wr Sar § a dved 1
Har g o wafed Ve A FE x+1 My @

a0, 1,2 (b) 2, 3, 4

()0, 1,3 (d) None of these



If Sx411y is a prime number for natural
number values of x and y, then what is
minimum value of x+y?

ﬂﬁ5x+11y|!ﬂ?mfﬁ$3ﬂﬂ?ﬂ'm%a’fx+y
F1 ~AqHA Al A HLP
(a) 2 (b) 3

(c) 4 (d) ';5/
@WW\/



IfA, B,C,D and E are five prime numbers,
' D | ; sum of these five numbers=266. If is given
H+B +C "'"2 6 thahe value of AS is?
I J, \ MﬂﬁABCDEWmm%EW
M/ﬂ odd O‘M Odd Odd HEIT3T FT T 266 § eI a1 § A<B<C<D<E

< e\. + ?-, at AS &1 A AT FLP @
Q + (a) 243 J,HS/Z
(c) 3125 (d) Can’t determine

A= < I Pyuma No- odol g ¥
S g t‘



The total no. of factors of a number is 24
and the product of the prime factors of the
same numbers is 30. The square root of
the ratio of such a smallest and the

Abc ..:._.[31;,

greatest possible numbers is?
2’(3’6 TF HEA F T UGS 24 § AR 3@ F=wm

N'-QX:‘? ¥ FHST UGS H1 UGS 30 § A e
(l)(“)(ﬂ'l")(zﬂ) qmﬂ@mwmmmm#

2\ W(a' 6
Y3 KUK
Z:Q Q\)Qx







The sum of all digits except the unity
that can be substituted at the place of k in
order to be divisible by 8 in the numbers
23487k 2?

woft I FT AT FHG H BIFA A el T

@ T AFdT ¢ 30 7 & Ig 8 ¥ fonfoa &2
(a) 5 4B) 14

(c) 9 (d) None of these

®



A tan digit number 2x600000y8 is
exactly divisible by 24. If x#0y =0

then the least value of (x4y) is equal to?
TF 10 3T &A1 2x600000y8

2160000048 quis: 24 ¥ R ¥ IR x 20y 0

\ u al (x4y) FT ~AdA A FHH T gam?
(a) 9 (b) 2
e 5 (d) 8



By subtracting 5 from a number and
dividing it by 7, the answer obtained is 2.
Then find the value by subtracting 4 from
some number and dividing it by 3?

FHsemAads5agemmaargiksd 7@

HTeT foar STar § A 39¢ &H 2 ured gar § afe
I TEAT A 4 g 9 3N T {7 3 W A

FGT TP
ud 5 (b) 6
(c) 7 (d) 8



Find the number which when
multiplied by 124 increased by 25837

9g WEA A FX O 124 F T01 A R 30
2583 1 et e 2
(a) 22 (b) 23

21l



